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Details eines Beispiels fur N=16 (y=4)

1

1 1 1
X (g, 1y, 00) = D0 DT DT D %0 (Ky, Ky, Ky Ky ) -

k0=0 k1:0 k2:0 k3:O

.W n0023_k3 .W (2 n1_|_n0 ).22.k2 .W (22'n2 +2n1+n0)2°k1 .W (23'n3+22'n2 +2n1+n0)'k0
no, k2, kl' ko k3, kz, k].’ ko (no)'8'k3
No. Ny, Ky, Ko | ny, Ky, Ky, kg (2n+no)-4-k,

\

Ny, Ny, Ny, Koy

Ny, Ny, Ky, Ko

\

No. Ny, Ny N3

Ny, Ny, Ny, Ky

(8ns+4n,+2n,+n,)-k,

Xo(K)

Xo(k+n)

WPHNI2 = _\\/P
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50 = XK o)

X, (k+N) = X,(K)+WPN2.x (k+n)
= X, (K)~WP-x,(K+n)

= Xl(k+n) = 2X0(k)-X1(k)
DSP-Befehl:
SUBL Xl(k),XO(k)

SUBL S,D
D:=2D-S
Ergebnis = D
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